
Ṕısemka ze ZMA č.1, paralelka 102

1. Spočtěte limitu funkce

lim
x→∞

√
x3 − x2 + 2−

√
x3 − 7√

x
.

2. Spočtěte limitu funkce

lim
x→2

sin(x2 − 4)

3 · 2x − 12
.

3. Spočtěte limitu funkce

lim
x→3

(x+ 3)2

x2 − 9
.

Ṕısemka ze ZMA č.1, paralelka 104

1. Spočtěte limitu funkce

lim
x→−∞

(√
4x2 + 4x− 2 + 2x

)
.

2. Spočtěte limitu funkce

lim
x→0

esin(πx) − 1

2x
.

3. Spočtěte limitu funkce

lim
x→∞

1 +
√
x

x+ 1
sinx.

Ṕısemka ze ZMA č.1, paralelka 206

1. Vypoč́ıtejte limitu posloupnosti

lim
n→∞

(√
n4 + 1−

√
n4 + n2 − 1

)
.

2. Spočtěte limitu funkce

lim
x→∞

x log x

x2 + 2
.

3. Spočtěte limitu funkce
lim
x→π

sgn(π − x) cosx.

1


